
MKL Thigh Release Kit
239640

938231/B-0819

LOCTITE222

1.5
4

1

Drill Ø4.1
csk. inside

socket
M4 x 12
M4 x 16

2 Apply a spot of grease to upper
face of cam plate - e.g. Sapphire

Endure 928015)

LOCTITE222

1.5
4

1

Drill Ø4.1
csk. inside

socket
M4 x 12
M4 x 16

2 Apply a spot of grease to upper
face of cam plate (e.g. Sapphire

Endure 928015)

MKL Thigh Release Kit
239640

938231/B-0819

LOCTITE222

1.5
4

1

Drill Ø4.1
csk. inside

socket
M4 x 12
M4 x 16

2 Apply a spot of grease to upper
face of cam plate (e.g. Sapphire

Endure 928015)
3 43 4 3 4

5 6 75 6 7 5 6 7

Blatchford Products Ltd
Unit D Antura, Kingsland Business Park

Basingstoke, RG24 8PZ, UNITED KINGDOM
Tel: +44 (0) 1256 316600

Fax: +44 (0) 1256 316710
Email: sales@blatchford.co.uk

www.blatchford.co.uk

Blatchford Products Ltd
Unit D Antura, Kingsland Business Park

Basingstoke, RG24 8PZ, UNITED KINGDOM
Tel: +44 (0) 1256 316600

Fax: +44 (0) 1256 316710
Email: sales@blatchford.co.uk

www.blatchford.co.uk


